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Question Number : 1 Question Id : 2549896264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Microsoft Windows by default the task bar is located of the desktop screen.
Options :

1. % on the start menu

2. %" at the bottom

3. % on the Quick Launch toolbar

4. % at the top

Question Number : 1 Question Id : 2549896264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

AEEHNTTE f[dSIe #, SWheld ThiH IR TREER fShiee U I Hal R RUd gidr g2
Options :

|, & ®E TR

2. % I & i

3. % PP Al CAaR W

4. % BB IR

Question Number : 2 Question Id : 2549896505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Workbook is a collection of:

Options :

1. % page setup

2. % buttons

3. % diagrams

4. %" worksheets

Question Number : 2 Question Id : 2549896505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JhHed 1 J ¥ frae dug 82
Options :

1. % U9 gey

2. % gl

3. % SrgUHEl

4.« JHC
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Question Number : 3 Question Id : 2549896560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following utility allows you to arrange fragmented pieces of files in contiguous locations?
Options :

1. ® POST

2. % Driver

3. % Defragment and Optimize Drives

4. %= RAID

Question Number : 3 Question Id : 2549896560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Fofiied & 9 o 9 giefordt smue! afafed Rl & Bredl & Ifsd ghs! Bl Fareyd B BI SgHfd adl 8?2
Options :

1. % POST

2. % gIRAR

3. f&lhic 3R SfffPdss $18a

4. %= RAID

Question Number : 4 Question Id : 2549896893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ink-jet, laser and thermal are common types of
Options :

1. % monitors

2. % printers

3. % mouse

4. % keyboards

Question Number : 4 Question Id : 2549896893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$-uic, TSR R Yid & G TSR B
Options :

1. % HitAeH

2.« flicd

3. % HI3YH

4 % PES

Question Number : 5 Question Id : 2549896948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The provides the means to move the pointer on the screen and gives information to the computer by clicking its buttons.
Options :

1. % scanner

2. % mouse

3. % keyboard

4. % program

Question Number : 5 Question Id : 2549896948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

; TIEe Bl WhIF IR 3R IR T B AT TS Il § 3R 3P de [ H IR HLR DI FTHTHRA T gheit
|

Options :

1. & TR

2. AI3Y

3. K PIEIS

4. % QU

Question Number : 6 Question Id : 2549897240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which program interprets commands given by the user in Linux?
Options :

1. % Kernel

2. % Shell

3. % Compiler

4. % Loader

Question Number : 6 Question Id : 2549897240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & ¥ D1 I R A (Linux) & ZoR gRT § 718 HHigy &I faafad & g2
Options :

1. ® Beiel

2. % T

3. ® pHIReR

4. % dlsY

Question Number : 7 Question Id : 2549898451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which MS-Excel function returns the minimum value in a field from a set of records that match criteria?
Options :

1. % MIND function

2. % SELECTMIN function

3. %" DMIN function

4. % SELECTDMIN function

Question Number : 7 Question Id : 2549898451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

AMES J A TH a1 Repls & Ve F B T MS-Excel HaRH [H ics | IAdH A a1 82
Options :

1. # MIND haRH

2. # SELECTMIN HhaRH

3. % DMIN haRH

4. % SELECTDMIN ThaRH

Question Number : 8 Question Id : 2549899272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

The connects all system components and allows input and output devices to communicate with the system unit.
Options :
1. % monitor

2. % motherboard
3. ® mouse
4. ¥ RAM

Question Number : 8 Question Id : 2549899272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FHex Red & gt ged! &I oy § siiedr § SR T4t $Ye quT 3r3eye fearsyl &l Rren gfie & ary
HHEIPC DI DI AR AT R

Options :

1. % giAR
2. ¥ AR ES
3. & HSYH
4. % RAM

Question Number : 9 Question Id : 25498930063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The probability that the matcher module of a biometric sensor recognises an individual as a different enrolled subject is:
Options :

1. % fixed match rate (FMR)

2. % false memorization rate (FMR)

3. # frequency match rate (FMR)

4. %" false match rate (FMR)

Question Number : 9 Question Id : 25498930063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

IEAfes AR & e @) Aiega gRT 6 afdd &1 T s/t Amiferd Jafad & U & Uga- &1 Wil o1 Heali 82
Options :

1. & ff3a ffrem &R (FMR)

2. & 3 IIgIRd aX (FMR)

3. # Mg M &R (FMR)

4. 38 fHAM &R (FMR)

Question Number : 10 Question Id : 25498930915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an output device in a computer?
Options :

1. = Monitor

2. %" Track ball

3. % Printer

4. % Graphic plotter

Question Number : 10 Question Id : 25498930915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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0 & 9 P R FR 3 TP 3Ieye farey T8 82
Options :
1. ® gifFex
2. % CH ad
3. % fiiex
4. % YIfthch Wilex

Question Number : 11 Question Id : 25498931285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
USB pen drive is memory.
Options :

1. # copy only

2. % re-writable

3. % read only

4. % write only

Question Number : 11 Question Id : 25498931285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
USB U4 134 fard TR &1 AART 82
Options :

1. % PHIUt 3Tt

2. & QIMSTd

3. ® S Sfieit

4. % 73T A

Question Number : 12 Question Id : 25498932657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
card readers are used in physical security systems.
Options :
1. % Access
2. % Confidentiality
3. % Integrity
4. % Virtual

Question Number : 12 Question Id : 25498932657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HTS e Wfass gRem gonferdt & IuahT i3 91 &1
Options :
1. ¥ TR
2. % YA
3. ® Jrgsdl
4. % YT

Question Number : 13 Question Id : 25498933097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When you select text in MS-Word 2019, you can show or hide the handy , which helps you work with fonts, alignment,
text colour, indenting, and bullets.
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Options :
1. = table
2. % mini toolbar
3. % new document

4. % print preview

Question Number : 13 Question Id : 25498933097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H 578 (1Y {5l TeRe &1 98 $d &, ) 3110 39 B HI g1 a1 fean Tehd & foras Whie, 3farg-ie, TRe
HeR, S R ey SRit STAA Hieg gt & 1

Options :

|. % ¢qd

2.« i gaaR

3. % g7 SlAgHT

4. % ficdig

Question Number : 14 Question Id : 25498933198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Decimal 12 is shown by in the hexadecimal system.
Options :

1. %A

2.%B

3.9 C

4. %D

Question Number : 14 Question Id : 25498933198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SIS R Ui H SR 12 1 & R H fBa1 ST g |
Options :

1. %A

2.%B

3.%C

4. %D

Question Number : 15 Question Id : 25498933817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of ENIAC, the first substantial computer machine?
Options :

1. % Electrical Numerical Integrator and Calculator

2. % Electrical Natural Integrator and Computer

3. % Electrical Numerical Iterator and Calculator

4. %" Electronic Numerical Integrator and Computer

Question Number : 15 Question Id : 25498933817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ENIAC, St Ugelt 39d ger A=iH o, &1 quiey T g2

Options :
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1. = s?ﬂ%w qfrhw NI 3R Wﬂ (Electrical Numerical Integrator and Calculator)
2. W 3@]@% ﬁgza SR TS W (Electrical Natural Integrator and Computer)

3. = 3@]@% Q{Erhw SR TS 3’(‘19?(’1(1% (Electrical Numerical Iterator and Calculator)
4. % 3@3@% Q@W IR TS W (Electronic Numerical Integrator and Computer)

Question Number : 16 Question Id : 2549898167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In terms of computer security, ACE stands for:
Options :

1. % Access Control Entry

2. ® Access Computer Entry

3. % Access Command Entry

4. ® Access Code Entry

Question Number : 16 Question Id : 2549898167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR YR&T & WeH T ACE &1 0l =0 37 32
Options :

1.+ TRN Eb_g_ﬁ?[ Q@of (Access Control Entry)

2. % URN PR Q_Cﬁ (Access Computer Entry)
3. % Q@Fag HHS E@"f (Access Command Entry)

4, = Q@Fag mq@ﬁ (Access Code Entry)

Question Number : 17 Question Id : 2549898380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MBR, partition table info is stored in bytes.
Options :

1. " 64

2. %47

3. %56

4. %= 68

Question Number : 17 Question Id : 2549898380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MBR H, faHTe d1feret SR TS B TR BT S g
Options :

1. % 64

2. % 47

3. % 56

4. % 68

Question Number : 18 Question Id : 2549899447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a computer port?
Options :

1. = USB

2. % Printer or parallel
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3. % Backup
4. % Ethernet or Network

Question Number : 18 Question Id : 2549899447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Foffed o 3 19 91 T SR Ue 78 o7
Options :

1. % USB

2. & i ar e

3. % 9B

4. % SUAC AT ACaD

Question Number : 19 Question Id : 2549899464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I HueR e I a9 81 8, fohR 378 YaR (JeudTer) &3 UTed fasa SiTar 82
Options :

1. % e Ui &l ggrov

2. " fUeR IR BT IUINT PR

3. % fliex fafmior &1 ufshan & uRad s

4. % 71 fllex @daax

Question Number : 19 Question Id : 2549899464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Since computers are faster than printers, how is communication (synchronisation) achieved?
Options :

1. % By enhancing printer port

2. % By the use of printer buffer

3. % By changing the printer manufacturing process

4. % By buying a new printer

Question Number : 20 Question Id : 2549899623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fiieR SRR &1 HY 3uIe fawar I Tl 82
Options :

1. % Haq g3t

2. & %Had Wd: (automatically)

3. fﬁtﬁx’ﬁ‘ﬁ 3R W@ (automatically) aHl
4. TH ST TE! o o Gavell §

Question Number : 20 Question Id : 2549899623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
How can printer drivers be updated?
Options :
1. % Only manually
2. % Only automatically
3. % Both manually and automatically
4. % Cannot be updated
9/39
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Question Number : 21 Question Id : 25498910785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fifeR &1 98 B A UHR ¢ o Ud® $1eR & G0 & o U WIeigad BT aTeft roft (1) TR W THAH 52
Options :

1. % -3 fiiex

2. FHITE fiflcy

3. % U9 flie”

4, % s iR

Question Number : 21 Question Id : 25498910785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A type of printer with a key striking an inked impression on paper for each printed character is known as:
Options :

1. % a non-impact printer

2. % an impact printer

3. % apage printer

4. % aline printer

Question Number : 22 Question Id : 25498911128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct option with reference to impact printers.
Options :

1. % Noisy printers

2. % High quality printers

3. % Quiet printers

4. % Slow printers

Question Number : 22 Question Id : 25498911128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0 fifext & dey & U5t fawed &1 9o & |
Options :

1. % SATATS DA dTel fliek

2. # I TUra dTd flie”

3. % 9id fUeR

4. % g R

Question Number : 23 Question Id : 25498913452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AIFF stands for:

Options :

1. % Audio Interchange File Format

2. % Audio Information File Format
3. % Audio Interchange Frame Format

4. % Audio Information Frame Format

Question Number : 23 Question Id : 25498913452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
10/39
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

AIFF &1 JURT 1 82

Options :

1.« 3fffsa m WIgd BiHc (Audio Interchange File Format)

2. % 3IfSTN FABTHYA HISA BIHC (Audio Information File Format)
3. ® 3fffea gcldol A WIHC (Audio Interchange Frame Format)

4. ® 3ffsar sﬂtblq T B H BIHC (Audio Information Frame Format)

Question Number : 24 Question Id : 25498913477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JPEG technique centres around:
Options :

1. % DST (Direct Simple True)

2. % DTT (Direct Token Transfer)

3. %" DCT (Direct Cosine Transform)
4. % DMT (Direct Mined Transform)

Question Number : 24 Question Id : 25498913477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JPEG A1 fham Higd it 82
Options :

1. % DST (Direct Simple True)

2. % DTT (Direct Token Transfer)

3. %" DCT (Direct Cosine Transform)
4. % DMT (Direct Mined Transform)

Question Number : 25 Question Id : 25498918491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to cancel a printing job:

Options :

1. ¥ Go to My Computer -> Select your default printer -> View all active jobs -> Right click on the job to cancel -> Click yes when
prompted

2. % Go to Control Panel -> Select your default printer -> View all active jobs -> Right click on the job to cancel -> Click yes when
prompted

3. %" Go to Notification area -> Click on printer icon -> Select your default printer -> View all active jobs -> Right click on the job to
cancel -> Click yes when prompted

4. % Go to C:\Windows -> Select your default printer -> View all active jobs -> Right click on the job to cancel -> Click yes when
prompted.

Question Number : 25 Question Id : 25498918491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foheft g BT (i) Y IE B B T UiHAT B2

Options :

1. & mycomputerWGl'fQ—> WWWWWﬁ—>Hﬁﬂmm(@maﬁ)aﬁa—@—>ﬁma§mﬁﬁamw
f3a® B > Tq Jfrd fordT ST @l yes TR fFad B

2. & controlpanelWGTQ-> &mﬁ%ﬁﬁﬁamwaﬁ->Hﬁﬂmmﬁ@ﬁaa@aﬁé@->ﬁm$maﬁww
faad B > Tq Jferd fordT ST al yes TR fFad B

3. Afefther TRET R WG - fifer 3Mged W ok &Y -> I fShiee flier &1 9g &3 -~ gt afehy raf (ufdea Sife) &
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G > T XA P (AU Sild TR 3¢ foad Hx -> 99 Jrord (a1 ST ol yes TR fadd B

4. % C:\Windows TR ST -> 30 f&Whice fUiex &1 78 &< -~ Tt Afcha Sl (Tded Siid) DI G -> g B & (A4 Sl1d TR IZC
faeteh X -> STa Gford fobar SU al yes UR faetas

Question Number : 26 Question Id : 25498921933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of cryptographic algorithm?
Options :

1. % Secret key algorithm

2. % Public key algorithm

3. % Hash function

4. %" Popular key algorithm

Question Number : 26 Question Id : 25498921933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o & 9 31 1 fhoimfthe Teniyd &1 06 USR T8l 52
Options :

1. % Hiche DI TANRYH

2. # UfedTds BI TANRYH

3. % g% haRM

4. %" OIgeR & TANRYH

Question Number : 27 Question Id : 25498922694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If Ethernet works in Linux, but there is a problem while working with Windows. What do we generally need to do?
Options :

1. % Disable the local area connection from the Control Panel

2. % Uninstall Ethernet drivers

3. %" Reinstall Ethernet drivers

4. % Disable wireless network connection

Question Number : 27 Question Id : 25498922694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I SR e & &1 SR 8, A SIS & T B0 FHoval THI U TAwT 8 | 39 R & o fopam o anfewe
Options :

1. # Hd Ud I b URAT HaRM & fSdad B

2. % URAC BN Bl AT B

3. % ST IR DI TF: TSI B

4. % JRRAY Hcde H-aRM DI [STTd B

Question Number : 28 Question Id : 25498924448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an information maintenance system call of Windows?
Options :

1. % Alarm()

2. # GetCurrentProcessID()

3. % SetTimer()
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4. % Sleep()

Question Number : 28 Question Id : 25498924448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

75 & ¥ S I Windows BT T ST HEHY Rised Hid 781 52
Options :

1. % Alarm()

2. % GetCurrentProcessID()

3. % SetTimer()

4. & Sleep()

Question Number : 29 Question Id : 25498925417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fEfRad & ¥ HF I diees & IR TeTd BT Th AT TE0T 82
Options :

1.« goaferd oy ot frafiarge

2. % TSaferd AU &1 Sid ST

3. % YSaferd oY &1 g1 ST

4. % TSAfd AU R HIs YT el

Question Number : 29 Question Id : 25498925417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a common symptom of voltage fluctuation?
Options :

1. % Flickering of incandescent lamps

2. % Turning on incandescent lamps

3. % Turning off incandescent lamps

4. % No effect on the working of incandescent lamps working

Question Number : 30 Question Id : 25498927446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PS/2 portis _ pin connector.
Options :

1. % 4

2. &5

3.%6

4. %7

Question Number : 30 Question Id : 25498927446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PS/2 UIE T o P B
Options :

1. % 4

2. %5

3.%6

4. &7
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Question Number : 31 Question Id : 2549896979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The file format is a method of encoding pictures on a computer.
Options :

1. % html

2. % jpeg

3. % ftp

4. %= URL

Question Number : 31 Question Id : 2549896979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BISd BiHc HHR R U5 B ThHI B BT U qdbl ¢
Options :
1. % html
2. % jpeg
3. % fip
4. %= URL

Question Number : 32 Question Id : 2549897214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

All the files in google drive are displayed in:
Options :

1. = My Computer

2. % My PC

3. % My Drive

4. % Local Drive

Question Number : 32 Question Id : 2549897214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T g13d Bt it g A feEs T gl
Options :

1. % HIS SR

2. % A5 UKt

3. % 118 913

4. % iohd 184

Question Number : 33 Question Id : 2549897680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following terms are NOT related to the internet?
Options :

1. % Browser

2. % Search engine

3. % URL

4. %" Indent ruler

Question Number : 33 Question Id : 2549897680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

14/39



20/03/2023, 11:00
Correct Marks : 1 Wrong Marks : 0
79 H 9 1M 91 Wog $exIe J Faifdd 781 82
Options :
1. & dI3eiY
2. # Fd goF
3. & URL
4. ¥ 3T EW

Question Number : 34 Question Id : 25498910440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Following are the options of the command of MS-Word 2019.

Sentence case
lowercase
UPPERCASE
Capitalize Each Word
tOGGLE cASE

Options :

1. % Change Case
2. #= Grow Font
3. % Shrink Font
4. % Case Change

Question Number : 34 Question Id : 25498910440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 fau mu faed Ms-Word 2019 &Y FATS & WA faped B

Sentence case
lowercase
UPPERCASE
Capitalize Each Word
tOGGLE cASE

Options :

1. o TSl o
2. & i<
3. & f3i@ Wi
4. % S

Question Number : 35 Question Id : 25498910453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Alternate (Alt) key on a computer keyboard belongs to which of the following categories?
Options :

1. % Typing keys

2. % Special purpose keys

3. # Function keys

4. % Control keys

Question Number : 35 Question Id : 25498910453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SR DI SHeTIT (alt) B AR T W fow avf I FfR@a o1 g2

Options :
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1. % CTSfUT &I
2. % WA U Pt
3. % ThaRMH &f
4. % S B

Question Number : 36 Question Id : 25498910565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to select all content of a document in MS-Word?
Options :

1. ® Ctrl+C

2. % Alt+L

3. % Ctrl+A

4, & Alt+A

Question Number : 36 Question Id : 25498910565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word # fareit STagiic & Tqui e &1 99+ B & o7l BIaIS Yede 1 g2
Options :

1. % Cul+C

2. % Alt+L

3. % Ctrl+A

4, & Alt+A

Question Number : 37 Question Id : 25498910735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid paragraph alignment in MS-Word?
Options :

1. %= Left

2. % Top

3. # Right

4. % Justify

Question Number : 37 Question Id : 25498910735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fraferiRad & & P11 MS-Word H TR T AR TR0 T 82
Options :

1. ® graf

2.« Y

3. % gl

4. % JRCHTE

Question Number : 38 Question Id : 25498911494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following in Windows operating system is a special section task bar where we can add icons to quickly start programs?
Options :
1. % Task bar
2. % Quick launch bar
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3. % Start menu

4. % Notification area

Question Number : 38 Question Id : 25498911494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Gﬁh@ggﬁaﬁ%ﬁﬂﬁwﬁﬁmﬁﬁﬁﬁ?wwﬁ@uﬁm?ww%aﬁsﬂmﬁaﬁﬁa??w&m&nsm
?

Op‘tions:

1. % TP dR

Question Number : 39 Question Id : 25498911514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Sham does NOT want to count the number of words in textboxes, footnotes and endnotes in the MS-Word document. Which of the
following option should be unchecked?

Options :

1. % Include textboxes, footnotes and endnotes
2. % Exclude textboxes, footnotes and endnotes
3. %= Enable textboxes, footnotes and endnotes

4. % Disable textboxes, footnotes and endnotes

Question Number : 39 Question Id : 25498911514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T MS-Word STFIHE & TResIad, Fedley 3R UsHIed H Yol &t T el f-H1 arean 8, af 39 g fawedt o fau e forg
ADh IR Pl 3Tl DHRAT I

Options :

1. % SRS, FeAley 3R TSIy &I A HY

2. % CREAIH, FeAled R TSI H1 B8 S

3. % TRCSIR, FeAlcH 3R USHICH HI $79d B

4. % TREAIH, FeAled 3R TSy &l fSqad &3

Question Number : 40 Question Id : 25498911833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Line spacing is the space between each in a paragraph in an MS-Word document.
Options :

1. % line

2. % word

3. % sentence

4. % letter

Question Number : 40 Question Id : 25498911833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
MS Word Siagic § 18- TR IRAME & Ud® & o & A g

Options :
1. %" dlg-
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2. % Yeg
3. % gIy
4. % 38R

Question Number : 41 Question Id : 25498911835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which of the following is not the Section Break Option?
Options :

1. % Next Page

2. % Odd Page

3. % Previous Page

4. % Even Page

Question Number : 41 Question Id : 25498911835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o & 9 1 91 9ok o fadwed 181 52
Options :

], % AR U

2. % IS U

3.+ Uifdgd U

4. % 3OS

Question Number : 42 Question Id : 25498911837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following groups in MS-Word 2019 can be used to adjust Line Spacing?
Options :

1. % Paragraph

2. % Font

3. % Clipboard

4. % Headings

Question Number : 42 Question Id : 25498911837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 & FEfaied & & fd Ju &1 SuahT ars- WRiTT &1 GeRifod o3 & fo faar s a@ar g2
Options :

1. TRTI%

2. K BT

3. % foIusIS

4. % Bi&™

Question Number : 43 Question Id : 25498911884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to edit the content of a cell in an MS-Excel 2019 worksheet?
Options :

1. % Left click on the cell once

2. % Double click on the cell

3. %= Right click on the cell
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4. % Select the cell and press ENTER key

Question Number : 43 Question Id : 25498911884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 FhRite B Jd F dec B Ufee HA & forg Fafrfad & § forges Suah fovar s wewbdr g2
Options :

1. % I R THER AU i Hih

2. % A WA IR i B

3. % I R3C fRTh P

4, % Yo Pl AcIdc Db S DI GEThR

Question Number : 44 Question Id : 25498913329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements with reference to MS-Word is/are true? (i) In MS-Word, a text cannot be both italicized and bold (ii)
In MS-Word, a text cannot have font-size less than 8

Options :

1. %= (i) only

2. % (i) only

3. % Both (i) and (ii)
4. % Neither (i) nor (ii)

Question Number : 44 Question Id : 25498913329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word % T+ # Ffefad # T 19 91/ SYT A 8/872 (1) MS-Word H, TR 3efdre 3R sicg aHl gl 81 Iobdl & (1) MS-
Word ¥, TRE &1 Hl-<-T12s § Y HH T8l 81 Gl §

Options :

1. ® &ad (I)

2. & &Had (II)

3. & (1) 3R (1)

4. T (1) SIRTE (1)

Question Number : 45 Question Id : 25498919169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many different feed methods are available in the Printing Options tab of the Envelope Options window in the mail merge process
of MS-Word 2019?

Options :
1. %1
2.% 2
3.%3
4, & 4

Question Number : 45 Question Id : 25498919169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 o1 Hel Fof UfshaT & Taay fde ey fIs! & flifen fawey ¢a H fam srarr-srav wis faftri Suds g2

Options :
1. %=1
2.% 2
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3. %3
4. % 4

Question Number : 46 Question Id : 25498919199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, the very first step in the process of mail merge is:
Options :

1. % Starting document

2. # starting main document

3. % Select document type

4. % document type

Question Number : 46 Question Id : 25498919199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H, Hd Hoi(merge) B UfhaT H Tod UgdT TRUT 34T 81T 82
Options :

1. % SRGHT LF AT

2. % T3 SIRHC P Bl

3. %" SIFHC & UHR BT I BT

4. % SIHGHT BT TBR

Question Number : 47 Question Id : 25498920530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2010, text in a column is generally aligned
Options :

1. % Justified

2. % Right

3. % Center

4. % Left

Question Number : 47 Question Id : 25498920530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2010 H, Bl | ¢aRe H=IG: R WRAT gaT |
Options :

1. & SRETPRS

2. ® 18

3. B g

4. TS5

Question Number : 48 Question Id : 25498925490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On Quick access toolbar of MS-Word, the Save icon looks like a/an:
Options :

1. ® TV

2. % LCD

3. % Hard disk

4. % Floppy disk
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Question Number : 48 Question Id : 25498925490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P TR TaeR W, 49 31eH 1 7 § forg avg J femar g2
Options :

1. =TV

2. % LCD

3. % gTs f$w

4. TRl (%P

Question Number : 49 Question Id : 25498930514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Windows OS, for switching between two windows, press and hold key and press key to bring up the Taskbar
Switcher Window.

Options :

1. %= Home, Tab
2. % Shift, Tab
3. # Ctrl, Tab
4. % Alt, Tab

Question Number : 49 Question Id : 25498930514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ffesosH Qi Fdafaaadfon,  FlamRW R e e fdsiamsfow #tcamn)
Options :

1. % g, <q

2. % R, &9

3. & $ld, ¢§

4. 3MeT, ¢

Question Number : 50 Question Id : 25498933759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An email can contain:

Options :

1. % text, files, but not images

2. # text, images, but not files

3. % text, files, as well as images

4. ® images, videos, but not zipped files

Question Number : 50 Question Id : 25498933759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

-0 B 1.1 M 8 Thal 82
Options :

1. % TRC 3R BIEd dfd- fora gt

2. % THe SR fx dfe wrgdt et

3. ' TRe 3R BTEd aut fo off

4. % o SR fafea Ao s wrgd =8t
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Question Number : 51 Question Id : 25498933803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Receiving a file from the internet to our computer is called
Options :

1. % uploading

2. % downloading

3. % saving

4. % opening

Question Number : 51 Question Id : 25498933803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT A EIR SR A BRI UMARI FA B UBAT  Hgardi 3l
Options :

1. % 3OAifeT

2. % SIS

3. & Qi

4. % 3fgfT

Question Number : 52 Question Id : 25498934441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Multimedia means the use of more than one in communication.
Options :

1. %= video

2. % media

3. & file

4. % image

Question Number : 52 Question Id : 25498934441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TfET A o, TR A TG A 34fis ST SUEIT AT B
Options :

1. % gifear

2.« Treodl (Hifsan)

3. % lrd

4. % 3OS

READING COMPREHENSION

Section Id : 2549897090
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Sub-Section Number : 1
Sub-Section Id : 2549897131
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921121 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Monsoon

The monsoon is generally referred to the season of rain. In India, it starts in the middle of June and continues after August. The sky
remains mostly cloudy. Rain is caused when water vapour condenses in the air. The heat of the sun rays raises the temperature of the
water on the earth. Due to its heat, the water starts evaporating and rises in the form of water vapour. This vapour forms the clouds that
give us rain. The south-west monsoon winds cause heavy rainfall in India. Sometimes the rain is accompanied with lightning and
storms.

The benefit of the monsoon season is that the rains provide relief from the heat. Everyone enjoys the rainy season. It is the time for
indoor games, story-reading and storytelling. People relish hot tea and pakoras. It is also the season for umbrellas and waterproof
raincoats. The temperature remains pleasant during the monsoons.

In India, we get rainfall for around 3-4 months. The agriculture of our country mainly depends upon water from rainfall. During this
season, the groundwater is replenished. The wells, lakes, ponds and reservoirs are filled with rainwater. Without rainwater, these lands
would turn into barren deserts. Every year we wait for the monsoon forecast from the weather department. Our heart gets filled with joy
when we get the news of adequate monsoon.

Rain is of immense value to the cultivators. The greatest boon of the monsoon is the rich cultivation of crops. The farmers sow the seeds
or plants as soon the rain makes the fields soft. Constant natural watering leads to their quick growth. During the period of adequate
monsoon, we get good agricultural output. But in cases of floods, the crops go under the water and are destroyed.

Sub questions

Question Number : 53 Question Id : 25498921122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When does the monsoon start in India?
Options :

1. % At the end of August

2. % By the middle of June

3. % Before June every year

4. % At the beginning of the year

Question Number : 54 Question Id : 25498921123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT mentioned in the passage?
Options :

1. # Floods can destroy crops

2. % Rains are a boon to the farmers

3. % Children do a rain dance

4. % Rain replenishes groundwater

Question Number : 55 Question Id : 25498921124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Agriculture of our country depends mainly upon:
Options :

1. % heat of the sun rays.

23/39



20/03/2023, 11:00

2. % the plants sown by the farmers.
3. % water from reservoirs.

4. %" water from rainfall.

Question Number : 56 Question Id : 25498921125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the passage, select the correct sequence of the following events.

a. The water on earth becomes hot due to the heat from the sun.
b. Clouds are formed in the sky by the vapour.

c. Rain is caused when the vapour condenses.

d. The water evaporates and rises in the form of water vapour.

Options :
1. % abced
2. %" adbc
3. % cbad
4. % cadb

Question Number : 57 Question Id : 25498921126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The farmers welcome the rainy season because:
Options :

1. # it results in lightening and storms

2. % it gives them time to play indoor games
3. % it is time to have hot tea and pakoras

4. % it ensures a rich cultivation of crops

Question Id : 25498921121 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

U 7T TR Y U SR ISP SMYR W U8 & JWR S

HAYA

A AR TR SRS & HIH B el offdl & | HRd H, T8 57 & A H = g1d1 § 3R 3R & §1¢ db SR} 3§l 8 | 39 GRM
STE & SATETAR THT 916 BIUIEd ¢ | 891 H SId STadTsd g1y 81 ol § ol ST gl & | g o1 fosvon &t i gedt R ot
&1 AYHH SgTdl & | STH! TH & HRUT U &1 Il gidT § 3R Seary & w0 § I8 SR 33dT ¢ | 59 ary J §led §d &

%ﬁeﬁméﬁ%lﬂw-ﬁwmmwﬁwmwwaﬂ?ﬁ%anﬁ-aalﬁmﬁs@wuﬁmﬁaﬁ?wlﬁ&nﬁ
|

AYA & TGH &7 A1 I8 ¢ b F1R=1 T & W5 UeH -l § | §R H18, sRATd & A &1 Mg ddl 8| I8 S8R 118 W,
HEMI UG 3R HEMHT He &1 U ¢ | AN 58 Ad B T 919 3R UdhIS! &7 TS A & | I8 BTa 3R ATexyW Adbiel o Ht
TR B | A & SR dTIH 9 T 8|

R H SRR BT HRGH AT 3-4 HeH d I8dT & | AR ¥ 1 B g w0 F anf & Ut iR FR gt §1 59 A1\ & R,
Yo R § WR ST 8 | HU, 2, ATee SR ST au oidt ¥ HR 7T & | Jui-ofdt o faeT Yfty sor AR o sgd et | gR ara
mﬁgﬁmmw%%ﬁ@wﬁﬁww%lweﬁmﬁuﬁaﬁﬁwﬁﬂ?ﬁ%a‘rmm@ﬁﬁm
ST 8 |

anf Y & e sraferes arHye 8 | haal &1 9gfg & o A &) auf Yad 981 aRvgH g | ok 81 ST Wdl &1 oA &1 RA
AT &, fopam oiet a1 119 A9 3 8 | TR Wi Riars 3 ST @Rd f[Aem g1 8 | Tafed A &t 3/afy & SR, 86
3T HY IcUTE FHera 8 | A 91 3 TR Tl Ul H §a STl g 3R I8 81 9l & |

Sub questions
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Question Number : 53 Question Id : 25498921122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
YR H A & Y= 8Id1 82
Options :

1. ¥ 3RA P 3{d Y

2. ¥ S ALY

3. % Ufy oY o @ Uga

4, % YD ARH Y

Question Number : 54 Question Id : 25498921123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrafafed o 3 frue Ieie e & =8 foar mar 32
Options :

1. % 91¢ Bl &I SaIG B bl 5l

2. % gu1 {59 & R REH 5

3.4 TR TR A T A B |

4. % g YOI B G WR AT &

Question Number : 55 Question Id : 25498921124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TRIVPI PN THEIY WR AR
Options :

| % g ¥ ol a8 Tt

2. % fpuHl gRT I 7Y Uret

3. ® SR & Ur

4.+ N1 9 U ST

Question Number : 56 Question Id : 25498921125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T o SR Y G131 A Gt 3IshH b1 TG BIToIT:

a. XS D1 T ) aoTe T &R IR Hislg 5dt T 8 S g |
b. STTATS B GoTg q S § STl ol (HHfr ghar 8|
c. ISTaTY TS Hafd g1 STt 8, d auf giett &

d. T IS IR SR SIadT™ & &0 & 3HgT1 81 oidl ¢ |
Options :

1. % abcd

2. % adbc

3. % cbad

4. % cadb

Question Number : 57 Question Id : 25498921126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T SRR & TR &1 WHTd o § adifh |
Options :

1. % 9 faoTelt SR I 3 §

2. % U 3¢ TTER 111 Qe &1 HipT a1 ?

3. % g TTH 91 3R Ubls! ol Iy §
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4. + T8 BTl I TG Tt AT TR

QUANTITATIVE APTITUDE
Section Id : 2549897091
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897132
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o s B T TG o S O T ATl S HIA IO ST (A W S w0 T e 8
(200010 % (1.999)% + (3999074 =7

Options :

& 32
2. % 16
3 % B4

4. % 512

Question Number : 58 Question Id : 25498914363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the approximate value of the given expression?

{Haore: vou are not expected to caleulate the exact value)

(2.0001)? % (1.990)72 {3900}~ = ¢
Options :

1. %32

2. % 16

3. %64

4. % 512

Question Number : 59 Question Id : 25498929009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
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wAET ol & 3w T S @ AT 4 0 5 §) 3R wewir Beter s sewe 80 &9 HEEET @
At Fgs #r FuE Far gl
Options :

| x 1642 AT
» w10 HEWRET
3 u B HEHET

4 1042 TéreireT

Question Number : 59 Question Id : 25498929009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratic of the base to the height of a right-angied friangle is 4 ; 5. Tf the area of the right-anglad
triangle is 80 cm”, what is the heighs of the triangls?

Options :

| 16v2 cm

> % 10 cm
3 % Beom

4 102 cm

Question Number : 60 Question Id : 25498929018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1ﬂ%‘r&:wwﬁrﬁaﬁrﬁ%|ﬁﬁﬁﬁg,ﬁaﬁ#ﬁvﬁmhﬁaﬂ?ﬁﬁﬁaﬁﬂaﬂ#
e o= B & By woar B W= A 9T % 129 Y a7 & Fnuner suTe oy O B v 9
10% & o7 & T=qie =07 (Ao Toate) &7 ) OfE S Sreenat 7 9§ ofd T 2,805 & &
TEF ZA TFAT A YT T B & e o g7 0 (T A=) e A4

Options :

1. % %4500

2. % %4200
3. % T 4050

4. % TAL00

Question Number : 60 Question Id : 25498929018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Shashi had & cerfain amount of money, Ha investad E-nf the total money in scheme A for 0 vears and the rest of the
money in scheme B for 2 years. Scheme A offers simple interest at a rate of 12% p.a. and scheme B offers
compound inrerest (compound=d annuallyy at a rate of 10% poa. 1 the tolal s obtained from ot the schemes is
2. 805, what was the foral ammonnt invested (approximate) by Shashi in schame A and scheme B fozether”

Options :

1. % 24,500

2. %34.200

3. % 34,050

4. % 35,100

Question Number : 61 Question Id : 25498929043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Solve the given lwo equations and select the correcl answer.

L x%=16

. 2y =17y + 36— 0
Options :
& X<y

5> % The retationship between v and y cannot he determined

Question Number : 61 Question Id : 25498929043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fem T & Tt S e S e S o T
I x* =16

I 2yt =1y +36=10

Options :

L& X=¥

, w ¥ 3Ty & g wey e A8 B s we
.8 X*Y

4. 2 ZY

Question Number : 62 Question Id : 25498929082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
wmﬁr#wannﬁm‘aﬁﬂwwhﬁ#w%ﬁaﬁﬁﬁfﬂamm}ﬁtﬁ?%ﬁaﬁ
Eﬂﬁmaﬁrwﬁﬂhiﬁﬂjmﬁ?ﬁﬁ%ﬁrﬂmﬂgml 20% g ST &= T =G A
T AT
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Options :
| = 250 kg

L« 320 kg
s« 420 kg

4 360 kg

Question Number : 62 Question Id : 25498929082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A trader has 600 kg of rice, a part of which he sells at 15% profit and the remaining quantity at 20% loss. On the whole transaction he
incurs an overall loss of 6%. What is the quantity of rice that he sold at 20% loss?

Options :

1. % 250 kg
2. % 320 kg
3. % 420 kg
4. % 360 kg

Question Number : 63 Question Id : 25498929619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

12 m Sl T SAR & 2N I T elar & Y &7 ST D10, TaR & UG U SHRA & MY & ST HIU & SRISR g | TR Bt
ST (m ) fbal gt

Options :

. % 15
2 % 18
3 & 20

4.9 24

Question Number : 63 Question Id : 25498929619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the angle of elevation of the top of a tower as observed from the top of a building of height 12 m is the same as the angle of elevation
of the top of the building as observed from the foot of the tower, then the height (in m) of the tower is:

Options :
1. %15
2. % 18
3. %20
4, % 24

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549897092
Section Number : 4
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897133
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 64 Question Id : 25498912882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If Weg DISTRIBUTE & TS 9 6 3R 1 RN &F oo & gga foar oman 8; 320 ave gk d urad 3feR, R 9 3116 d 31&R
3R a1t Bt FRuferat 1 oft oo & s foa Sran 8, Y 1 S H B a1 9 Ut sieR e H ¥ B | g

Options :

1. %E

2. 8]

3.%8S

4. 8T

Question Number : 64 Question Id : 25498912882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the positions of the first and the sixth letters in the word DISTRIBUTE are interchanged, similarly the positions of the second and the
seventh, the third and the eight and so on, which of the following letters will be fifth from the left after interchanging positions?

Options :
1. % E
2. %]
3. %8
4. % T

Question Number : 65 Question Id : 25498919633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option with the quality common to the three given words.

Kerosene, Petrol, Diesel
Options :

1. = Firewood

2. % Engine

3. % Fuel

4. % Coal

Question Number : 65 Question Id : 25498919633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fadhed &1 9 B S A U 7 Y <1eal & THH 01 &1 Fad IRl |

Options :
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1. & Ghal
2. ® 3o
3. % 3
4. & HIgar

Question Number : 66 Question Id : 25498920366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

famed & fou U re-grt & ¥ oiF Meg-gml & RMeg BIs TH Aae WIS I & o6 319 Th & ol, 39 ST Wea-giH o1
EREEdIEIY!

Options :

1. % g& : d-l

2. @ %l_ERT: \'HV@

3. EW:W

4, & t?[?ﬂ:uﬁf

Question Number : 66 Question Id : 25498920366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the word-pair in which the two words share a different relationship from that shared by the two words in the rest of the word-
pairs.

Options :

1. % Tree : Stem
2. % Face: Eye
3. % Chair : Sofa

4. % Plant : Flower

Question Number : 67 Question Id : 25498927858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Pigs : Grunt :: Ducks : ?
Options :

1. % Bleat

2. % Quack

3. % Squeak

4. % Neigh

Question Number : 67 Question Id : 25498927858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 far e &1 7oA BT ForresT dIeR e J 8t Taier 8, S Tafel G Xeg b1 Ugd et A ¢

3R : YRYRT :: 979 :?
Options :

1. & faften (Bleat)

2. % B B BT (Quack)
3, & WFIT(Squeak)

4. % TR (Neigh)

Question Number : 68 Question Id : 25498928163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
In a certain code language, A is coded as 26, and SUM is coded as 27. How will CAT be coded in that language?
Options :
1. %24
2. ® 27
3. % 57
4. %= 58

Question Number : 68 Question Id : 25498928163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS AT HeuTon & A &Y 26 3R SUM &1 27 & &0 B Heag a1 SITdl 8, O ST HeHTs H CAT & b U § Heas [
SITUIT?

Options :

1. %= 24

2. %27

3.% 57

4. ® 58

Question Number : 69 Question Id : 25498928302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given pair of words.

Despotic : Tyranny

Options :

1. % Authoritarian : Superiority
2. % Generous : Liberality

3. % Skillful : Celebrity

4. % Suspect : Illegality

Question Number : 69 Question Id : 25498928302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fadhed o1 9o o e Wsal & oia I8t Taiel g off Yy =it fou 71U reg-gv & Teci & o g
IRRCRIIRE I CIN

Options :

1. % Tadl : g8drare
2. % 3R : GFRITA
3.‘-‘-@?[:9%@3

4. hm:&la?l

GENERAL AWARENESS
Section Id : 2549897093
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897134
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 70 Question Id : 2549895263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I & fore AR ifa o) fora AoTeeh U g2

Options :

1. % 3N Hfa Tbey, 1948 J

2. % 3N i Tbew, 1956

3. & A § gHToEre U Rfd o531 & 19 uref & Johed
4.+ 3N fIfFTm, 1951

Question Number : 70 Question Id : 2549895263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The licensing policy of the industries drew strength from the:

Options :

1. % Industrial Policy Resolution, 1948

2. % Industrial Policy Resolution, 1956

3. %= Congress Party Resolution of establishing socialistic pattern of society
4. % Industrial Act, 1951

Question Number : 71 Question Id : 2549895714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is NOT correctly matched?
Options :

1. % Loop of Henle — Kidney

2. % Fallopian tube — Female reproductive system

3. % Epididymis — Male reproductive system

4. % Cowper’s gland — Intestine

Question Number : 71 Question Id : 2549895714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
e & o 9 gm T8 T8t 82
Options :

. % 390 &1 U - JIB

2. % {S1g arfg - Afge Yo d
3. % YV - GY U oA

4.« BTOY UMY - afid

Question Number : 72 Question Id : 25498912778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was the Amateur Athletics Federation of India (previously known as the Amateur Athletic Federation of India (AAFT))
established?

Options :
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1. % 1936
2. % 1946
3. % 1956
4. % 1966

Question Number : 72 Question Id : 25498912778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

AR YTy B 3 Efear (B Ugd si=iR Tyafe s HexH 3T fSTT (AAFT) HT ST UT) 1 R &4 gs
Options :

1. % 1936

2. % 1946

3. % 1956

4. ¥ 1966

Question Number : 73 Question Id : 25498929917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Klatch the Authors in list 1 with the Concepts in list 11

Lizt I - Authors List 11 - Concepis

B. John T Hrck 2 ],"c:m:r.iauﬂ'rinn

. James Hutmon 3. Dynamic Equilibrium

D.LC King 4., Uniformitarianism
Options :

1. % A-1,B-4, C-3,D-2
2. % A-1,B-3,C-4,D-=2
3. % A2, B-4,C-3,D-1
4. %" A-2,B-3,C-4, D-1

Question Number : 73 Question Id : 25498929917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- | () Ol (3EE EE & e aEyrme) # wE e F1 o Rw aw o
HEZ T WE IooT & 90+ fawest § ® #h

-l (F) eIl (3% e & % rererRomst)
A. Tfemw wfw 3w 1. Ui (YEETasE)
B. e & &= 2. Ul (EAETE )
C. 3FF g2 | 3. wTienfrer ATEOTaEAT
D. fer TeEn 4. TEEIATETE
Options :

1. ® A-1,B-4, C-3,D-2
2. ® A-1,B-3,C-4,D-2
3. # A-2, B-4, C-3, D-1
4. % A2, B-3,C-4, D-1

Question Number : 74 Question Id : 25498932571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

YR AL BT 377 F I A1 U Hifere BRI 3 Feiferd g2

Options :

1. % YT I

2. & YATII

3.% YT III

4. % YHATIV

Question Number : 74 Question Id : 25498932571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Part of the Constitution of India deals with Fundamental Rights?
Options :

1. = Part [

2. % Part I

3. % Part III

4. %= Part IV

Question Number : 75 Question Id : 25498935823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are correct?

1. As per the optimum theory of population, per capita income will increase with the population growth in underpopulated areas.
2. According to Thomas Malthus, the population of any country doubles once in every 20 years.

3. Celibacy, self-control and late marriages are the preventive checks against population increase postulated by Thomas Malthus.
4. According to Thomas Malthus, war, earthquake and flood are some of the positive checks against population growth.

Options :

1. %1, 3 and 4 are correct
2. # 1,2 and 4 are correct
3. % 2.3 and 4 are correct

4. % 1,2 and 3 are correct

Question Number : 75 Question Id : 25498935823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafRed F IR faaR & 8Tk 374 & gl B2l &1 997 B |

1. SIFRRET & A RIGTd & SR, HH SIFERedT aTd 3aTh! H SIRie S & 1Y gl ufd safaa oma o st 31
2. AT & 38R, U 20 I8 H SEeA ST €1 ol 1

3. SETad, STc-TTW 3R 38 ¥ f3are, I gRT YT ¢ AEAveRt U §|

4. TG AT & SR, I, YU 3R §1¢ SRS g &1 A & $© HRIED SUA 5|
Options :

1% 1,33R4TE g
2. % 1,23R4TE T
3. %2,33R4TEE
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Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,

socializing, decision making, independent and responsible living and more. It aids the overall development of a child and

children have fun during this process as they get to explore new arenas.
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Computer is perhaps the most controversial inventions of the twentieth century. Ever since Bill Gates made it a household name
people have been debating over its merits and demerits. Most students would agree that the computer is the greatest invention
on earth because it has opened up a vast store of easily available information for them. At a click of the mouse we get to learn
many things that help us to keep abreast with the fast moving world. However for each positive aspect of the computer there is
an equal or more negative counter point. Gone are the days of vigorous handwriting practice. The computer has come as a
blessing for students who can now submit their assignments in neat and legible sheets. They can loop up any information to put
together their projects and use various software applications to present them in an impressive manner. Coloured graphs and
diagrams can be inserted. There is very little scope of spelling errors and even grammatical mistakes are done away with.
Knowledge increases with its spread and anyone who wants to spread his thoughts and knowledge can put it on the internet. It is
available to the world and research students no longer need to labour through piles and piles of manuscripts. Universities can be
contacted and even queries are answered through the internet. All this saves them a lot of time and labour as well as money.
There are numerous online forums for those who want to discuss and conferences that they can log on to. They can always
indulge in a healthy interaction with other literary enthusiasts. As computers become increasingly pervasive into our lives an
increasing number of people are facing problems on the domestic front because of computers and the internet. Individuals are
spending hours on end chatting or surfing on the net but they do not have time for the other members in the family. Each one is
becoming less communicative and more dependent on the computer. Children especially of the advanced and more developed
countries are known to spend twenty hours a week playing computer games. Alternately computers are helping to build up a
global family instead of narrow groups based on community and caste. The different groups that can be found on social
networks are witness to the growing popularity on international communities. In a very short time people can be brought
together to protest against some wrong and to fight for some right or garner support for someone. As people become
increasingly aware of what is going on in the world more and more people are involving themselves in the service of other. There
are doctors who can be consulted online and lawyers who clarify legal points. Sadly the advent of computers and the internet has
rung the death knell on a lot of habits that are essential for the development of a good character. Reading is one such habit that
is fast dying. Be it the daily newspaper or a work of fiction the practice of group reading is decreasing. Communicative skills are
deteriorating and health is suffering because of the long hours spent sitting in front of the computer. It depends on our wisely
making use of a computer to turn it into a boon instead of a bane for us.
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